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Answer the following problems with complete procedure.

1. Find the approximate value of 3/26.9 (20 pts)
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2. Given the equation f(X) e i 2 g find the line tangent to the curve at X=a=0. (20 pts)
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3. The edge of a cube was found to be 22 cm. with a possible error in measurement of 0.2cm. Estimate
the maximum possible error in computing the volume of the cube (20 pts)
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4. A can is going to be modified in such a way that its height will change from 14cms to 14.6 cm but the
diameter of the base will remain as 9cm.

a) Find the change in the volume of the can (20 pts)
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b) Find the approximate change in the volume of the can (20 pts)
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